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CHEMISTRY

FOR IIT JEE ASPIRANTS OF CLASS 12 FOR CHEMISTRY

ALCOHOL, ETHERS & PHENOL, OXIDATION & REDUCTION

1. Which of the following reaction is called as 'Bouveault-Blanc
reduction’

A.reduction of acyl halide through Na /CoHsOH

B. Reduction of ester through Na /CoHsOH

C. Reduction of anhydride through Na /C2oHsOH

D. Reduction of carbonyl compounds through Na /C2HsOH


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_o0eLmKJxA0KY

Answer: D

o Watch Video Solution

2.In which of the following reaction alcohol is not formed-

H+
AR —-CH =CH, + H,O ——
high pr.

1 ALHy
B.R — COCI + 2H, 22"

LiAlHy
C.(R — CO),0 + 4H, + 4H, 5

H+
D.R— CH, — CH; + H,0 ——
High pr

Answer: D

° View Text Solution

3. Which one of the following alcohol has highest boiling point-

A. Methanol


https://dl.doubtnut.com/l/_o0eLmKJxA0KY
https://dl.doubtnut.com/l/_DgQx2G6y3uG9
https://dl.doubtnut.com/l/_rzlCN8FaBCtO

B. ethanol

C. Propanol

D. Isopropanol

Answer: C

o Watch Video Solution

4. Dimethyl ether and ethanol has same molecular weight but boiling

point of ethanol is greater than dimethyl ether, cause of this is that

dimethyl ether-

A. Having less no. of branches

B. Arrangemnt of hydrogen is different

C. Due to hydrogen bonding in alcohol

D. None of these

Answer: C


https://dl.doubtnut.com/l/_rzlCN8FaBCtO
https://dl.doubtnut.com/l/_vhqe1feXVDK4

° Watch Video Solution

5. Reactivity order of alcohols towards Na will be-

A.3° <2° <1° > MeOH

B. MeOH > 1° > 2° > 3°

C.2° >1° >3° > MEOH

D.1° =2° =3° = MeOH

Answer: B

° Watch Video Solution

6. In the esterification of alcohol by carboxylic acid, proton is given by-

A. Alcohol

B. Conc. H,S0,


https://dl.doubtnut.com/l/_vhqe1feXVDK4
https://dl.doubtnut.com/l/_U0XqZwHR4rD0
https://dl.doubtnut.com/l/_QGGCBXZqFPQB

C. Acid carboxylic

D. None of these

Answer: B

o Watch Video Solution

7.2-methyl 2-propanol with Fenton's reagent gives-

A. 1,2-methyl propene-1

B. 2-methyl propene-2

C. 2,5-dimethyl hexanediol-2,5

D. 2,2,3,3-tetramethyl butane

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_QGGCBXZqFPQB
https://dl.doubtnut.com/l/_0nUBtjS3haUN
https://dl.doubtnut.com/l/_PQmxw4rf715m

8. When methane is passed in copper tube at 200° C with air, it gives.

A. Methanol

B. Ethanol

C. Acetylene

D. Ethene

Answer: A

° Watch Video Solution

9. Acetic acid is removed from pyroligneous acid by the passing it in-

A. Al(OH), solution
B. Ba(OH), solution
C.Ca(OH), solution

D. Ethanol


https://dl.doubtnut.com/l/_PQmxw4rf715m
https://dl.doubtnut.com/l/_m1LGDciLstKk

Answer: C

o View Text Solution

10. Crushed germinated barley solution is called-

A. Mesh

B. Malt

C.Wort

D. Was

Answer: B

o Watch Video Solution

11. Which one test is also known as RBW test-

A. Lucal test


https://dl.doubtnut.com/l/_m1LGDciLstKk
https://dl.doubtnut.com/l/_fEyv276Lhj6P
https://dl.doubtnut.com/l/_xrRt2Xwc17ZD

B. Victor meyer test

C. carbilamine test

D. Mullical-Barker test

Answer: B

o Watch Video Solution

12. Ethyl iodide reacts with most Ag,O to form

A. Ether
B. Alcohol
C. Alkene

D. Alkane

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xrRt2Xwc17ZD
https://dl.doubtnut.com/l/_RHwUVm3xwzwU

13. Ethyl iodide reacts with sodium ethoxide to form

A. Ethene

B. Ethoxy ethane

C. Alcohol

D. None

Answer: B

o Watch Video Solution

14. Ether reacts with halogen in in dark and in light to give-

A. Same products
B. Different products
C.It does not react in light

D. It does ot react in dark


https://dl.doubtnut.com/l/_JPgEBrMNrVHG
https://dl.doubtnut.com/l/_k6hctN7TdEuS

Answer: B

° Watch Video Solution

15. Ether reacts with PCl5 to form

A. Ethyl chloride

B. Phosphorous oxy trichloride

C.BothAand B

D. None

Answer: C

° Watch Video Solution

16. An example of compound with functional group —O — is

A. Acetic acid


https://dl.doubtnut.com/l/_k6hctN7TdEuS
https://dl.doubtnut.com/l/_8z3QBsvsqbD2
https://dl.doubtnut.com/l/_ImAOinQYtw6U

B. Methyl alcohol

C. Diethyl ether

D. Acetone

Answer: C

° Watch Video Solution

17. An organic compound A reacts with sodium metal and forms B. On
heating with conc. H, SOy, A gives diethyl ether. So A and B are

A 03H7OH and CHgONCL

BCHgOH and CHgONa

C. C4H90H and C’4H90Na

D. CgHg,OH and C’2H50Na

Answer: D

| ° A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_ImAOinQYtw6U
https://dl.doubtnut.com/l/_woNFCqSAB6kn
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18. In the presence of an acid catalyst, two alcohol molecules will

undergo dehydration to give

A. Ester

B. Anhydride

C. Ether

D. Unsaturated hydrocarbon.

Answer: C

o Watch Video Solution

19. A carbon compound A forms B with sodium metal and again A forms

C with PCl; but B and C form diethylether. Therefore A, B & C are -

A. 02H5OH, 02H5OHCL, 02H5Cl


https://dl.doubtnut.com/l/_woNFCqSAB6kn
https://dl.doubtnut.com/l/_8BWV0CAMJHhW
https://dl.doubtnut.com/l/_AgLggxu5UmlP

B. CgH5Cl, CQH5ONCL, 02H5OH

C.CyH;0OH, CyHg, CoHgCl,

D. C2H5OH, 02H5Cl, 02H50Na

Answer: A

° Watch Video Solution

20. When ethyl iodide is treated with dry silver oxide, it forms-

A Ag

B. CoH5;OC,Hj

C.CLH,OH

D.COOH — COOH

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AgLggxu5UmlP
https://dl.doubtnut.com/l/_34TkIyCFVFOZ

21.C — O — C'bond angle in diethyl ether is about-

A.180°

B.110°

C.150°

D.90°

Answer: B

o Watch Video Solution

22.1n chlorobenzene, the — Cl group

A. Activates the benzene ring more, via resonance effect that

deactivating it via inductive effect.

B. Deactivates the benzene ring more, via inductive effect that

activating it via resonance effect.


https://dl.doubtnut.com/l/_99MakKjlPFeO
https://dl.doubtnut.com/l/_w9FWgwowA4y6

C. Activates the benzene ring via resonance effect and deactivates it

via inductive effect. Both these effect are evenly matched.

D. It is a net deactivating group with director characteristics.

Answer: B

° Watch Video Solution

23.0

Identify 'Z' in the reaction given below.
Al
B. s
c.le

D. L

Answer: C

| o ... L~



https://dl.doubtnut.com/l/_w9FWgwowA4y6
https://dl.doubtnut.com/l/_ctzqxVZBcXxL
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24.The correct order of reactivity towards electrophilic substitution is-

A. PhenolgtBenzenegtChlorobenzenegtBenzoic acid

B. Benzoic acidgt ChlorobenzenegtBenzenegtPhenol

C. PhenolgtChlorobenzenegtBenzenegt Benzoic acid

D. Benzoic acidgtPhenolgtBenzenegtChlorobenzene

Answer: A

o Watch Video Solution

25. Which among the following is the strongest ortho-para directing

group?


https://dl.doubtnut.com/l/_ctzqxVZBcXxL
https://dl.doubtnut.com/l/_4pz0INVODxdR
https://dl.doubtnut.com/l/_kLSlN3fonJpZ

C.— OCH,

D. — CH,

Answer: A

o Watch Video Solution

26. The compound represented by the molecular formula, C; HgO are-

A. Only alcohol

B. Only ether

C. Only phenolic compound

D. All the three types of compounds.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kLSlN3fonJpZ
https://dl.doubtnut.com/l/_WJtouOKojgH1
https://dl.doubtnut.com/l/_JgE8izsVzwbl

27.|dentify A, B and C in the following reactions-

F ]

A. Sodalime, benzene, potassium phenoxide

B. Zn,benzene,sodium ethoxide

C. Zn, cyclohexanone, sodium ethoxide

D. None of the above.

Answer: A

° View Text Solution

28. What insoluble aromatic compound dissolves in sodium hydroxide
but remain insoluble in sodium bicarbonate. Hence the expected
compound should be - [where ¢ = CgHj]

A.¢ — COOH

B.¢ — OH


https://dl.doubtnut.com/l/_JgE8izsVzwbl
https://dl.doubtnut.com/l/_mJUgLmcNGXJd

C.¢ — CO — CHs

D.¢ — NH,

Answer: B

o Watch Video Solution

29. Salicylaldehyde and o-nitrophenol are less soluble in water because-

A. Their molecular weights are high

B. They exhibit intra molecular H-bonding

C. They are aromatic compound

D. —CHO and — NO, groups are not polar

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_mJUgLmcNGXJd
https://dl.doubtnut.com/l/_5lSNq47yBquB
https://dl.doubtnut.com/l/_sUfdXOmumrIU

30. Rate of substitution reaction in phenol is-

A. Slower than the rate of benzene

B. Faster than the rate of benzene

C. Equal to the rate of benzene

D. None

Answer: B

o Watch Video Solution

1. Which of the following is produced when an aqueous solution of

butan-2-ol is refluxed with dilute acidic KMnQ,?

A. butanol

B. butanoic acid


https://dl.doubtnut.com/l/_sUfdXOmumrIU
https://dl.doubtnut.com/l/_J5Duiukq1KX2

C. potassium butanoate

D. butanone

Answer: D

o Watch Video Solution

2. Consider the reaction

compound 'B' is

A. propane

B. propene

C. propyne

D. propanal

Answer: B

PCl l
CH,CH,CH,0H — A ﬁ B. The

o Watch Video Solution



https://dl.doubtnut.com/l/_J5Duiukq1KX2
https://dl.doubtnut.com/l/_kxiI1GTKoSZl

3. Which of the following has the lowest solubility in water?

A.CH;CH,CH,CH,OH
CH3

|
B.CH; — C HCH,OH
c. HOH,C — CH,OH

D. Oy HsCH,CH,OH

Answer: D

° Watch Video Solution

4. Chlorine reacts with ethanol to give

A. Ethylchloride

B. chloroform

C. chloral

D. acetaldehyde.


https://dl.doubtnut.com/l/_PPtDdjUAACB1
https://dl.doubtnut.com/l/_cPzS2dd9gJsh

Answer: C

° Watch Video Solution

5. Ethanol is heated with concentrated HySO,. The product formed is

A CH; = ﬁ—0—02H5
(0

B. C2Hg
C.CyHy

D.C>2H,

Answer: C

° Watch Video Solution

6. Which of the following has the highest boiling value pK,?

A.CH; — CH,OH


https://dl.doubtnut.com/l/_cPzS2dd9gJsh
https://dl.doubtnut.com/l/_hNQZhy6AKvwq
https://dl.doubtnut.com/l/_a2Q8Sinm6ZZD

B.Cl - CH, — CH,OH

C.F3C - CH, - OH

0.CHy ~ C H — CH,0H
CHs

Answer: D

° Watch Video Solution

7.Which of the following has the highest boiling point?

A.CH; — CHy — ‘CH— CHsj;
OH

B.CH; — CHy — CHy — CHyOH

CCHs; — CH—-CH,OH
|
CHs
CH;

|
D.CH; — (lj _ OH

CHs

Answer: B

| e


https://dl.doubtnut.com/l/_a2Q8Sinm6ZZD
https://dl.doubtnut.com/l/_fCN2VRQlh0cd

I & Watch Video Solution I

8. Wood spirit contains

A. Only methanol

B. only ethanol

C. methanol+ethanol

D. a mixture of a number of alcohols

Answer: A

o Watch Video Solution

9. The compound which reacts fastest with Lucas reagent at room

temperature is

A. butan-1-ol

B. butan-2-ol


https://dl.doubtnut.com/l/_fCN2VRQlh0cd
https://dl.doubtnut.com/l/_cDL60td6KjwG
https://dl.doubtnut.com/l/_18lZLoZYfsNS

C. 2-methyl propan-1-ol

D. 2-methyl propan-2-ol

Answer: D

o Watch Video Solution

10. The hydroboration oxidation of 2-methyl propene yields-

A.1° alcohol

B.2° alcohol

C. 3° alcohol

D. None

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_18lZLoZYfsNS
https://dl.doubtnut.com/l/_HuomSDIGaWgf
https://dl.doubtnut.com/l/_N8sYwdnmUpUr

1. Li AlH, converts acetic acid into-

A. Acetaldehyde

B. Methane

C. Ethyl alcohol

D. methyl alcohol

Answer: C

o Watch Video Solution

12. Action of HNO5 on CH3 N H, gives

A.CH;0H

B.CH; — O — CH;

C.CH;—O-N=0

D. B and C both


https://dl.doubtnut.com/l/_N8sYwdnmUpUr
https://dl.doubtnut.com/l/_iEPfi6caly5n

Answer: D

° View Text Solution

13. Acetaldehyde racts with CH3 M gBr. The compound formed will be-

A.CH;CH,OH

B.CH;CHOHCH;

C.CH;CH,CH,OH

D. None of these

Answer: B

° Watch Video Solution

14. Action of nitrous acid on ethyl amine gives-

A CQH(;


https://dl.doubtnut.com/l/_iEPfi6caly5n
https://dl.doubtnut.com/l/_yzqYB86UoXBN
https://dl.doubtnut.com/l/_bUtUdvDPnYRC

B. CoHsOH

C.NH,

D. Nitromethane

Answer: B

° Watch Video Solution

15. Which of the following isomeric alcohols have highest melting and
boiling points

A. Primary

B. Secondary

C. Tertiary

D. All equal

Answer: A

| ° A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_bUtUdvDPnYRC
https://dl.doubtnut.com/l/_7Tk73HToxlsy

L vvallll viUCo o0IUtLiornl

16. Hydrogen bonding is posslb ein -

A. Ethers
B. Hydrocarbons
C. Alkanes

D. Alcohols

Answer: D

° Watch Video Solution

17. The increasing order of boiling points of 1°,2°,3° alcohol is-
A 1% >2° > 3°
B.3° >2° >1°

C.2° >1° > 3°


https://dl.doubtnut.com/l/_7Tk73HToxlsy
https://dl.doubtnut.com/l/_TRm8TqQ36LlY
https://dl.doubtnut.com/l/_L8FxTet9xTvc

D. none

Answer: A

° Watch Video Solution

18. The solubility of lower alcohols in water is due to

A.Formation of hydrogen bond between alcohol and water

molecules

B. Hydrophobic nature of alcohol

C.Increases in boiling points

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_L8FxTet9xTvc
https://dl.doubtnut.com/l/_7EQ1drTiyEtY
https://dl.doubtnut.com/l/_Wx75EMh8Rw7r

19. Conversion of CH30H to CH3COOH can suitablly be carried out
with the reagent (under high pressure condition).

A.COy/Hy50,

B.CO /BF;

C.CO, / BF3

D.CO / H,S0,

Answer: B

° View Text Solution

20. Which of the following reactions of an alcohol does not involve O-H

bond breaking:

A. Reaction with alkali metals

B. reaction with an acyl chloride

C. reaction with sulphonyl chloride


https://dl.doubtnut.com/l/_Wx75EMh8Rw7r
https://dl.doubtnut.com/l/_XIiQXM2myRC6

D. reaction with conc. Sulphuric acid

Answer: D

° Watch Video Solution

21. Alkyl chloride is formed when alcohol is treated with HCl in presence

of anhydrous ZnCl,. The order of reactivity with respect to alcohol is

A3° >2° >1°

B.1° > 2° > 3°

C.2° >1° > 3°

D.1° > 3° > 2°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XIiQXM2myRC6
https://dl.doubtnut.com/l/_gc3T1UUsRwfi

22. When ethyl alcohol reacts with acetic acid, the products formed are

A. Sodium ethoxide+hydrogen

B. Ethyl acetate+water

C. Ethyl acetate+soap

D. Ethyl alcohol + water

Answer: B

o Watch Video Solution

23. Methyl alcohol reacts with phosphorus to form-

A. Methane

B. Methyl chloride

C. Acetyl chloride

D. Dimethyl ether.


https://dl.doubtnut.com/l/_sMP6GxNV3wH4
https://dl.doubtnut.com/l/_Gb8eldOHVCGj

Answer: B

o Watch Video Solution

24. The— OH group of Methyl alcohol cannot be replaced by chlorine

by the the action of

A. Chlorine

B. Hydrogen chloride

C. Phosphorus trichloride

D. Phosphorus pentachloride

Answer: A

° Watch Video Solution

25. Reaction of alcohol does not show cleavage of R-O linkage-


https://dl.doubtnut.com/l/_Gb8eldOHVCGj
https://dl.doubtnut.com/l/_cPxO29Oh4ld7
https://dl.doubtnut.com/l/_fqgZEtCofdk1

A.ROH + PCl;

B. ROH + SOCI,

C.ROH + HC(CI

D. ROH + Na

Answer: D

° Watch Video Solution

26. Replacement of -OH group in alcohol by -Cl cannot be carried out

with-

A. PCl;

B. SO,Cl,

C. PCl;

D. SOCl,


https://dl.doubtnut.com/l/_fqgZEtCofdk1
https://dl.doubtnut.com/l/_O6NMqCeLw4B3

Answer: B

o Watch Video Solution

27. Which alcohol does not give a ketone on oxidation-

A. Isopropyl alcohol

B. Allyl alcohol

C. Ethylmethylcarbinol

D. Methylphenylcarbinol

Answer: C

° Watch Video Solution

28. A compound X with molecular formula C5HgO can be oxidised to a

compound Y with the moleculr formula C3HgO,, X is most likely to be -


https://dl.doubtnut.com/l/_O6NMqCeLw4B3
https://dl.doubtnut.com/l/_RKjD11hiZmDM
https://dl.doubtnut.com/l/_rCVnJ1JmPW76

A. Primary alcohol

B. Secondary alcohol

C. Aldehyde

D. Ketone

Answer: A

° Watch Video Solution

29. Tertiary alcohols are resistance to oxidation because:

A. They do not have o hydrogen atom

B. Of large +l effect of alkyl groups

C. Of greater steric hindrance

D. All the above

Answer: A



https://dl.doubtnut.com/l/_rCVnJ1JmPW76
https://dl.doubtnut.com/l/_He28eKEzXNul

[ W Watch Video Solution ]

30. The number of alkanols and ethers represented by the molecular

formulae C3HgO and C,H;)O respectively are gives by the set :

A 2]13,.2

B.1,2,2,3

C. 2043

D. 2,134

Answer: C

° Watch Video Solution

31. Which is mixmatched-

A.CyHy — CyHy Four primary carbon atoms

B.CH3; — CHy — CH(OH)CH; Optical active


https://dl.doubtnut.com/l/_He28eKEzXNul
https://dl.doubtnut.com/l/_1CCc68Xdj2Hp
https://dl.doubtnut.com/l/_JgNkTsO3noUb

C.CH3; — O — CH(CHj;), Two secondary carbon atoms
D. Ether is heated with CH3COC! in presence of AlCI3; to give

CH3COOCy,H;5 + Cy,H;5Cl

Answer: C

° View Text Solution

32. Diethyl ether is metamer of -

A. Ethoxyethane

B. Methyl propyl ether

C. Methoxyethane

D. Ethoxymethane

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JgNkTsO3noUb
https://dl.doubtnut.com/l/_p7bKyFirnOeI

33. Anhydrides of alcohol are nothing but -

A. Ethers

B. Aldehydes

C. Esters

D. Alkyl anhydrides.

Answer: A

° Watch Video Solution

34. Electron pair donating tendency is maximum in-

A. Me-O-H

B. Me-O-Me

C. Et-O-H

D. Et-O-Et


https://dl.doubtnut.com/l/_oW77oFFgXe0d
https://dl.doubtnut.com/l/_iRSzrzlm4S7x

Answer: D

° Watch Video Solution

35. Which of the following is a cyclic ether-

A. Ethyl ether

B. Phenyl ether

C. Tetrahydrofurane

D. Vinyl ether

Answer: C

° Watch Video Solution

36. In which case the product is neither a cyclic ether nor open chain

symmetrical ether-


https://dl.doubtnut.com/l/_iRSzrzlm4S7x
https://dl.doubtnut.com/l/_g1kb2Bvu7N3T
https://dl.doubtnut.com/l/_AnoV9cWlPEtS

A CH; — CH = CH — CH, 290K

B. CH30H2ONCL + CQHE,B’I" —
C. KCN + (CH3),Cbr —

4 o
D. CoH;OH (Excess) + H550, =,

Answer: C

° Watch Video Solution

37.1n order to obtain diethyl ether from ethanol, the latter is taken in-

A. In equal amount of sulphuri acid

B. In slightly lesser amount of sulphuric acid

C. In excess amount of sulphuric acid

D. in far lesser amount of sulphuric acid

Answer: C



https://dl.doubtnut.com/l/_AnoV9cWlPEtS
https://dl.doubtnut.com/l/_Dj12Xc7sYPCn

[ W Watch Video Solution

38. For making (CH3),C — O — CyHj the ideal combination is-

A (CH3)3CONCL and 02H5BT'
B. (C.Hg)gCB’l" and CzHg,ONCL
C. both the above

D. None

Answer: A

° Watch Video Solution

39. Mixed ether will not be formed in the reaction-

A. CHgOCHzCl + 02H5MgBT

B. CH,N, + CyH;OH


https://dl.doubtnut.com/l/_Dj12Xc7sYPCn
https://dl.doubtnut.com/l/_RhmLFro69fzF
https://dl.doubtnut.com/l/_we7Rd5tPimZ4

C. CQH5ONCL + CHgI

D. CoHsOH + H5504(140° C)

Answer: D

o Watch Video Solution

40. In which case ether is formed-

o
A.(CH3),C — Br + CN
B. CHgCHQBT’ + (CH3)3CO_
e
C.(CHs),C — Cl + OC, H;

D. None of the above.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_we7Rd5tPimZ4
https://dl.doubtnut.com/l/_1gIKkyt0dRlY
https://dl.doubtnut.com/l/_7nvBTfMuq00s

41. Diethyl ether acts as a

A. Lewis acid

B. Lewis base

C. Reducing agent

D. Oxidising agent

Answer: B

° Watch Video Solution

42. Ethers like alcohols do not form strong.. . Bonding. Hence they are

more volatile

A. Covalent

B. Hydrogen chloride

C. coordinate

D. None of the above.


https://dl.doubtnut.com/l/_7nvBTfMuq00s
https://dl.doubtnut.com/l/_cCQqlPrarwmY

Answer: B

° View Text Solution

43. The compound obtained by the reaction of diethyl ether with
chlorine in the presence of sum light, is-

A. perchloro diethyl ether H;Cy — OC5Cl;

B. Perchloro diethyl ether Cl5Cy — O — C5Cl;

C. B8, B'-Dichloro diethyl ether CICH,CHy — O — CHyCH5CI

D. , a’'-Dichlorodiethylether CH; — CH — O — léI — CH;
|
i ci

Answer: B

° Watch Video Solution

44.Diethyl ether absorbs oxygen to form-



https://dl.doubtnut.com/l/_cCQqlPrarwmY
https://dl.doubtnut.com/l/_xPhrTOHJj5Fp
https://dl.doubtnut.com/l/_elgmoCWsiL3S

A. Red coloured sweety smelling compound

B. Acetic acid

C. Ether sub oxide

D. Ether peroxide.

Answer: D

° Watch Video Solution

45, Ethers in contact with air for a long time form peroxides. The
presence of peroxide in ether can be tested b y adding Fe*™ ions
followed by the addition of

A. KCNS

B. SnCl,

C. HgCl,

D.KI


https://dl.doubtnut.com/l/_elgmoCWsiL3S
https://dl.doubtnut.com/l/_fy1hQO0j5emC

Answer: A

o Watch Video Solution

46. Diethyl Ether reacts with chlorine in the dark to form-

A.CH,Cl — CH, — O — CH, — CH,
B. CH;Cl — CH, — O — CH, — CH,Cl
C.CH; — CH(CI) — O — CH(CI) — CHj

D.CH; — CH(CI) — O — CH, — CHj

Answer: C

° Watch Video Solution

47. Ether does not form oxonium salt on reaction with-

A. Cold conc. H,SO,


https://dl.doubtnut.com/l/_fy1hQO0j5emC
https://dl.doubtnut.com/l/_XmvAANAVUvuY
https://dl.doubtnut.com/l/_FWfKMdEnk48m

B. Cold conc. HCI

C. Conc. HI

D. None of the above.

Answer: C

o Watch Video Solution

48.The ordinary alkyl ethers are cleaved by-

A. Ethanol

B. Ethyl halide

C. BF;

D. Hydrogen iodide

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FWfKMdEnk48m
https://dl.doubtnut.com/l/_qxoVOrqX5H9w

49. The decomposition of ethers by Kl or HBr is called-

A. Zerewitinoff's reaction

B. Ziesel's method

C. Williamson's method

D. Hell-Volhard-Zelinsky reaction

Answer: B

o Watch Video Solution

50. Ether is not formed in this reaction-

C .H>50
A 2C, H,Oh —2727%8
140°

B. (CH3)3C’ —Cl+ C’2H50Na —

C. CgHg,Cl + (CH3)3C — ONa —


https://dl.doubtnut.com/l/_UAx6bUxfKK7N
https://dl.doubtnut.com/l/_d0RTKdLSyAU4

D. Oxygen of ether can be replaced by chlorine when treated with

PCl;

Answer: B

o Watch Video Solution

51. Unsymmetrical ethers are best prepared by-

A. Williamson's continuous etherification process
B. Reacting grignard reagent with alkyl halide
C. Treating sodium alkoxides with alkyl bromides

D. Heating an alkanol with conc. H,SO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_d0RTKdLSyAU4
https://dl.doubtnut.com/l/_rHzDddYbytaM
https://dl.doubtnut.com/l/_kFtm6Gs8HW9O

52. Which of the followig is used as an additive by fire departments

under the name Rapid-Water-

A. Ethylene glycol

B. Polyethylene oxide

C. Epichlorohydrin

D. Epoxy oxide

Answer: B

° Watch Video Solution

53.1In the Williamson's synthesis for diethyl ether, which species workds

as a nucleophile-

A. Halide ion

B. Ethoxide ion

C. Ethyde ion


https://dl.doubtnut.com/l/_kFtm6Gs8HW9O
https://dl.doubtnut.com/l/_oRztK8mLZjXm

D. Hydride ion

Answer: B

° Watch Video Solution

54. The structure of the compounds formed by the the reaction of

diethyl ether with oxygen of air is :

A.CH;CH, — O — O — CH,CHj
CH;

|
B.CHsCH, -O—- CH-0-0-H
C.CH3;CHy, — 0O -0 —-CHy, — 0O - CHj;

D. CHy(OCH;) — CH, — O — CyH

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oRztK8mLZjXm
https://dl.doubtnut.com/l/_6jndvZzp2dlz
https://dl.doubtnut.com/l/_mF0apmNNi6Ns

55. Ether bottles should not be kept open in air because-

A. Ether is an anaesthetic

B. Ether forms an explosive peroxide

C. Ether is costly

D. Ether gets oxidised to ethanol

Answer: B

° Watch Video Solution

56. Isopropyl alcohol vapour is passed over alumina heated at about at

about 240° C. The product formed is-

A. diisopropyl ether

B. propene

C. a mixture of diisopropyl ether and propene

D. 3-hexene


https://dl.doubtnut.com/l/_mF0apmNNi6Ns
https://dl.doubtnut.com/l/_L3rk7meKH1RZ

Answer: C

o Watch Video Solution

57. Which of the following is not expected to give ether on reaction

with sodium methoxide?

A. CH;CH,CH,ClI

C. PhCH,CI
D.CHy = CHCI
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_L3rk7meKH1RZ
https://dl.doubtnut.com/l/_ISYBosD7zVBU

58. Consider the following reactions

1. (CH3COOH ) ,Hg.CH3;0H
CH?,CH = CH2 >
2.NaBH4

CH; 0]
| |
ACH;CH -0 —C — CHs

CH,

|
B.CH; — C H — OCHj,
C.le

D. s

Answer: B

o Watch Video Solution

59. What is the end product 'B' of following sequence of reaction?

HNO, H,O
C6H5NH2 — A" — "B’
H,50,/0°C A
A.CeHsN>Cl

B. CsHg


https://dl.doubtnut.com/l/_tmVUkv8DEPVS
https://dl.doubtnut.com/l/_E9dnk9MeOs9d

C.C¢H;NH,. H,SO,

D. CsH;OH

Answer: D

o Watch Video Solution

60. What are the final products of the following sequence of reactions?

Anhy ALCly 0,/130°C , H'

C6H6 + CH3CH = CH2 > 7

Catalyst

A. cumene and phenol

B. Phenol and acetone

C. Cumene and acetone

D. Benzoic acid and ethane

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_E9dnk9MeOs9d
https://dl.doubtnut.com/l/_i4I96NevaAvg

61. Phenol is obtained in large scale from which fraction of coal-tar?

A. Light oil fraction
B. Green oil fraction
C. Pitch

D. Middle oil fraction

Answer: D

o Watch Video Solution

62. By which of the following reactions phenol can be prepared

industrially-

A. Rasching process

B. Dow process



https://dl.doubtnut.com/l/_USV71h5sDtNH
https://dl.doubtnut.com/l/_KiDVvEUbnRFP

C. Cumene is oxidised and the product obtained is treated with dil.

H,50,

D. All of the above

Answer: D

° Watch Video Solution

63. The compound obtained by heating cumenehydroperoxide with dil.
H2504 is

A. Phenol

B. Isopropyl benzene

C. Benzene sulphonic acid

D. none of these

Answer: A

| o A _L vl _ _ e~_ ..



https://dl.doubtnut.com/l/_KiDVvEUbnRFP
https://dl.doubtnut.com/l/_7T5yg3gQurbf

L vvallll viUCo o0IuULiornl )

64.The product of the reaction of benzene with oxygen in the presenec

of V505 as catalyst at 200° C'is-

A. Maleic anhydride

B. Benzoic acid

C. Phenol

D. None of these

Answer: C

o Watch Video Solution

65. Dow's process used in the industrial preparation of phenol, is-

NaOH
A 06H5Cl S CﬁHg,OH + NaCl
CuCly-300°

S5i0;
B. 06H5Cl + H,O — C6H5OH + HCI
425°


https://dl.doubtnut.com/l/_7T5yg3gQurbf
https://dl.doubtnut.com/l/_RejUE95O5wEJ
https://dl.doubtnut.com/l/_QMw9Wg7qZoiE

A
C. 06H5NH2 + HNOQ — C@H5OH + N2 + H2O

D. C6H5N20l + HQO — CGH5OH + Ny + HCI

Answer: A

o Watch Video Solution

66. Benzo radical in the following is-

A CoH;CH,

B.CeHy <

C. 06H5 -

D. L

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_QMw9Wg7qZoiE
https://dl.doubtnut.com/l/_YIMNetXYBMu2
https://dl.doubtnut.com/l/_4GhBCUzRireR

67. Next higher homologue of phenol is-

A. Hydroxy toluene

B. Hydroxy benzene

C. Dihydroxy benzene

D. None of the above.

Answer: A

o Watch Video Solution

68. Which of the following is not a phenolic compound-

A. Salol

B. o-Cresol

C. Anisole

D. Quinol


https://dl.doubtnut.com/l/_4GhBCUzRireR
https://dl.doubtnut.com/l/_oa0b2JVBKaee

Answer: C

o Watch Video Solution

69. Unacceptable name for a compound containing one-OH group

attached to benzene nucleus would be-

A. Carbolic acid

B. Hydroxybenzene

C. Catechol

D. Phenol

Answer: C

° Watch Video Solution

70. How many 7 electrons are there in a planar ring of phenol


https://dl.doubtnut.com/l/_oa0b2JVBKaee
https://dl.doubtnut.com/l/_ZKihcD7tUEfD
https://dl.doubtnut.com/l/_ubh4j49Hx06A

A4

B.6

C.8

D.10

Answer: C

° Watch Video Solution

71. When phenol reactes with CHCIl; and NaOH followed by
acidification, salicyladehyde is obtained. Which of the following species

are involed in the above-mentioned reaction as intermediates ?

A el

B. e

C.l#

D.Both Aand B


https://dl.doubtnut.com/l/_ubh4j49Hx06A
https://dl.doubtnut.com/l/_ICUNbc3KOcTQ

Answer: D

° Watch Video Solution

72. The presence of -OH on adjacent carbon atoms can be detected by

the reaction of the compound with-

A.Conc. H,SO,

B. Conc. HNO;

C.HIO,

D. Acidic KMnQO,

Answer: C

o View Text Solution

73.1n phenols-


https://dl.doubtnut.com/l/_ICUNbc3KOcTQ
https://dl.doubtnut.com/l/_yYWHhx0TNa1q
https://dl.doubtnut.com/l/_n1OH8Qnnzgrk

A. —OH group is attached in side chain

B. —OH group is directly attached to benzene nucleus

C.Both Aand B

D. None

Answer: B

° Watch Video Solution

74.The compound containing hydrogen bond is-

A. Toluene

B. Phenol

C. Chlorobenzene

D. Nitrobenzene

Answer: B



https://dl.doubtnut.com/l/_n1OH8Qnnzgrk
https://dl.doubtnut.com/l/_5zh17LkPhBrZ

[ & Watch Video Solution ]

75.Phenol on treatement with ammonia gives-

A. Benzene

B. Benzoic acid

C. Aniline

D. None

Answer: C

° Watch Video Solution

76. Salicylic acid, aspirin, nylon, plastics and picric acid have a common

raw material namely-

A. Methane

B. Formic acid


https://dl.doubtnut.com/l/_5zh17LkPhBrZ
https://dl.doubtnut.com/l/_1kaa7D4r1YDO
https://dl.doubtnut.com/l/_XSJK7NV7b2s4

C. Phenol

D. Alcohol

Answer: C

o Watch Video Solution

77. Which of the following will not be soluble in sodium carbonate

solution.

Alsl

B. o

c.l&

D. L2

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_XSJK7NV7b2s4
https://dl.doubtnut.com/l/_fFAJu0k4go6A

78. Under suitable conditions
CeH;CHy,OH(A)CgH;OH(B) and C¢HsCOOH(C) can act as
acids. The increasing order of their acidic strength is-

A. AltBItC

B. AltCItB

C. BItAltC

D. CItBItA

Answer: A

° Watch Video Solution

79. Kolbe's reaction consists in obtaining-

A. Anisol from phenol

B. Salicylaldehyde from phenol and CHI;


https://dl.doubtnut.com/l/_2tjEIk7BzwPj
https://dl.doubtnut.com/l/_wVr7f5an9XNX

C. Salicylic acid from sodium phenate and CO,

D. Salicylic acid from phenol and CO,.

Answer: C

o Watch Video Solution

80. The most suitable method of separation of a 1:1 mixture of o- and p-

nitrophenol is-

A. Sublimation

B. Chromatography

C. crystallisation

D. Distillation

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wVr7f5an9XNX
https://dl.doubtnut.com/l/_gLiXJLpIvPSK

81. p-Nitrophenol is stronger acid than phenol because nitro group is-

A. Electron withdrawing
B. Electron donating
C. Basic

D. Acidic

Answer: A

o Watch Video Solution

82. Which derivative of phenol gives effervescence with Na HCOj-

A. o-Cresol
B. Catechol
C.2,4,6-Trinitrophenol

D. 2,4,6-Tribromophenol



https://dl.doubtnut.com/l/_p9zKlhj8y21F
https://dl.doubtnut.com/l/_AAujI4DzqZBQ

Answer: C

° Watch Video Solution

83. When phenol reacts with benzene diazonium chloride , the product

obtained is :

A. Phenyl hydroxylamine

B. Para amino azobenzene

C. Phenyl hydrazine

D. Para hydroxy azobenzene

Answer: D

° Watch Video Solution

84. Phenol and benzoic acid can be distinguished by-


https://dl.doubtnut.com/l/_AAujI4DzqZBQ
https://dl.doubtnut.com/l/_LA2NwBO2pnYT
https://dl.doubtnut.com/l/_jEQzOaQyg8RS

A.Aqueous NaHCOj3

B. Aqueous NaNOj

C. Aqueous NaOH

D. Conc. Hy,S0,

Answer: A

° Watch Video Solution

85. Phenol is converted into salicylaldehyde by-

A. Etard reaction

B. Kolbe reaction

C. Reimer-Tiemann reaction

D. Cannizzaro reaction

Answer: C



https://dl.doubtnut.com/l/_jEQzOaQyg8RS
https://dl.doubtnut.com/l/_MZungSF0AdrD

[ W Watch Video Solution

86. s

In the following compounds, the order of acidity is:

A. lligtIVgtigtll
B. IgtIVgtlligtll
C. ligtigtlligtlV

D. IVgtlligtigtll

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_MZungSF0AdrD
https://dl.doubtnut.com/l/_5vriHnOaEtop

1. Dehydration require an acid catalyst to protonate the hydroxy group
of the alcohol and convert and convert it into good leaving group. Loss
of water followed by a loss of a proton, given the alkene an equilibrium

is established between reactants and products.

"]

Q. To improve the yield of above reaction which of following is correct.

A. High temperature

B. Distillation (removal of alkene)

C. Addition of H,O

D.Both Aand B

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_atOCK98FIy4G

2. Dehydration require an acid catalyst to protonate the hydroxy group
of the alcohol and convert and convert it into good leaving group. Loss
of water followed by a loss of a proton, given the alkene an equilibrium
is established between reactants and products.

L

| A
L
Q. | A

total number of a-hydrogen in A+B is

D.19

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_4e6sDoRSVCN0

3. Dehydration require an acid catalyst to protonate the hydroxy group
of the alcohol and convert and convert it into good leaving group. Loss
of water followed by a loss of a proton, given the alkene an equilibrium
is established between reactants and products.

o

Q. Which alcohol is most reactive towards dehydration of alcohol in

acid catalysed reaction.

A. lra

B. L=

C.lwa

D. L.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_qyGcMW7Fll2C

4. A compound (X)CyH170-0, does not give iodoform test but it can
change the colouf of acidic dischromate solution, compound (Y) is
another isomer of (X), that also does not give iodoform test but it can
not chang ethe colour of acidic dichromate solution but it can give
immediate turbidity with lucas reagent compound (Z) is another
isomer of (X) which can ive positive iodoform test & can change the
colour of acidic dihromate solution. X, Y & Z all are alcohols.

Q. Which of the followig can be X?

A. lra

B. .

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_m0wZe4bZbGxt
https://dl.doubtnut.com/l/_HZJkj94A2rDl

5.A compound (X)CyH17,0-0, does not give iodoform test but it can
change the colouf of acidic dischromate solution, compound (Y) is
another isomer of (X), that also does not give iodoform test but it can
not chang ethe colour of acidic dichromate solution but it can give
immediate turbidity with lucas reagent compound (Z) is another
isomer of (X) which can ive positive iodoform test & can change the
colour of acidic dihromate solution. X, Y & Z all are alcohols.

Q. Which of the following statement is correct about Y.

A. It gives red colour during victor meyer's test
B. it is a secondary alcohol
C. It can not give red colour with cerric ammonium nitrate

D. it can not give rd colour with fehling solution.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_HZJkj94A2rDl

6. A compound (X)C4H1(y0;0, does not give iodoform test but it can
change the colouf of acidic dischromate solution, compound (Y) is
another isomer of (X), that also does not give iodoform test but it can
not chang ethe colour of acidic dichromate solution but it can give
immediate turbidity with lucas reagent compound (Z) is another
isomer of (X) which can ive positive iodoform test & can change the
colour of acidic dihromate solution. X, Y & Z all are alcohols.

Q. Which of the following is not correct about compound 7?

A. It is a secondary alcohol.
B. It is a chain isomer of X.
C. It is functional isomer of diethyl ether.

D. It is a positional isomer of Y.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_m9c3IWnIwdet
https://dl.doubtnut.com/l/_M0B497k4AX3r

7.l
Reimer-Tiemann reaction introduces an aldehyde group on to the
aromatic ring of phenol, ortho to the hydroxyl group. Thi reaction
involves electrophilic aromatic substitution. It is a general method for
the synthesis of substituted salicylaldehydes as depicted below:
Q. Which one of the following reagents is used ini the above reaction?
A.aq. NaOH + CH;ClI
B.aq. NaOH + CH,Cl,

C.aq. NaOH + CHClj

D.aq. NaOH + CCl,

Answer: C

° View Text Solution

8.l

Reimer-Tiemann reaction introduces an aldehyde group on to the


https://dl.doubtnut.com/l/_M0B497k4AX3r
https://dl.doubtnut.com/l/_ZLmanCor0KHU

aromatic ring of phenol, ortho to the hydroxyl group. Thi reaction
involves electrophilic aromatic substitution. It is a general method for
the synthesis of substituted salicylaldehydes as depicted below:
Q. The electrophilic in this reaction is-

A :CHC(CI

B..® CHCI,

C.: CCl,

D. % CClg

Answer: C

o View Text Solution

9. s
Reimer-Tiemann reaction introduces an aldehyde group on to the
aromatic ring of phenol, ortho to the hydroxyl group. Thi reaction

involves electrophilic aromatic substitution. It is a general method for


https://dl.doubtnut.com/l/_ZLmanCor0KHU
https://dl.doubtnut.com/l/_vCLiVM6nFiyr

the synthesis of substituted salicylaldehydes as depicted below:

Q. The structure of intermediate (1) is:

A. lra
B. L=

C.lewa

Answer: B

° View Text Solution

10. Statement-I: The major products formed by heating e with HI are

L

L

Statement-ll: Benzyl carbocation is more stable.

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|



https://dl.doubtnut.com/l/_vCLiVM6nFiyr
https://dl.doubtnut.com/l/_heo4fSKSufUo

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-ll is true.

Answer: A

o View Text Solution

11. Statement-I: The major products formed by heating le. with excess

HIl are:

Statement-ll: ArSN reaction takes place if the ring is activated by EW

(eg., ( — NO,) group),at o — , p — and m-position.

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|


https://dl.doubtnut.com/l/_heo4fSKSufUo
https://dl.doubtnut.com/l/_rK1mQ43eAfIM

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-ll is true.

Answer: C

° View Text Solution

12. Statement-I: The boiling pint of diethyl ehter is greater than furan

L

Statement-ll: Furan is more compact and has less suface area.

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|


https://dl.doubtnut.com/l/_rK1mQ43eAfIM
https://dl.doubtnut.com/l/_hV5z8GuHUutZ

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-Il is true.

Answer: A

o View Text Solution

13. Statement-I: Fuan ls. is more soluble than DHF Dihydrofuran, l«. in
H,0
Statement-ll: Greater e~ density on the O atom, stronger is the H-
bonding and more soluble is the ether.
A. If both statement-l & statement-Il are true & the statement-ll is a
correct explanation of the statement-|
B. if both statement-l & statement-Il are true but statement-ll is not

a correct explanation of the statement-I

C. If statement-l is true but the statement-ll is false.


https://dl.doubtnut.com/l/_hV5z8GuHUutZ
https://dl.doubtnut.com/l/_5NB2sjfBLsxn

D. If statement-l is false but the statement-Il is true.

Answer: D

o View Text Solution

14. Statement-I: e

Statement-ll: p — NOy — C¢H4O ™~ is a stronger nucleophilic than

PhO~

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-Il is true.


https://dl.doubtnut.com/l/_5NB2sjfBLsxn
https://dl.doubtnut.com/l/_YMpeTbgjFi5S

Answer: C

o View Text Solution

15. Statement-I: L.

Y

L

Statement-ll Phenol cannot be chlorinated because the ring is

susceptible to oxidation by Cls.

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-ll is true.

Answer: A

™S |


https://dl.doubtnut.com/l/_YMpeTbgjFi5S
https://dl.doubtnut.com/l/_EgctUl49qcz3

l & View Text Solution

16. Assertion (A): 2,6-Dimethyl-4-nitrophenol (1) is more acidic than 3,5-
dimethyl-4-nitrophenol (lI).
Reason (R ): It is due to the steric inhibition of the resonance of
( — NO,) group with two (Me) groups in (Il).
A. If both statement-l & statement-Il are true & the statement-ll is a
correct explanation of the statement-|
B. if both statement-l & statement-Il are true but statement-ll is not
a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-ll is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EgctUl49qcz3
https://dl.doubtnut.com/l/_OSpIMHJO1Drj
https://dl.doubtnut.com/l/_q2nxg6wK4DQO

17. Statement-I: Diphynyl ether (I) on dinitration gives the

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-ll is true.

Answer: D

o View Text Solution

18. Statement-I: Reduction potential value (E°) of o-benzoquine le.i (1)
is greater than p- benzoquinone .
Statement-ll: Two adjacent (C' = O) group in (I) destabilse (1) relative

to (I1).


https://dl.doubtnut.com/l/_q2nxg6wK4DQO
https://dl.doubtnut.com/l/_roNNMYqH1ZcM

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-ll is true.

Answer: A

o View Text Solution

19. Statement-l: Ethers o reaction with air and light form
hydroperoxides. These peroxides decompose vilently at high
temperature. Allyln-n-propyl ether with O, in Igiht gives mainly I-
hydroperoxide allyl-n-propyl ether

Statement-ll: The reaction proceeds via the formation of radical anion.


https://dl.doubtnut.com/l/_roNNMYqH1ZcM
https://dl.doubtnut.com/l/_fMJnQIi1Snta

A. If both statement-l & statement-ll are true & the statement-ll is a

correct explanation of the statement-|

B. if both statement-l & statement-ll are true but statement-ll is not

a correct explanation of the statement-|

C. If statement-l is true but the statement-ll is false.

D. If statement-l is false but the statement-ll is true.

Answer: C

° View Text Solution

20. HBO. Oxymericuration-demercuration and acid catalysed hydration

will not give same product in


https://dl.doubtnut.com/l/_fMJnQIi1Snta
https://dl.doubtnut.com/l/_ArcnwqA0vglm

D. s

Answer: A::B::D

o View Text Solution

. H>0 dil . H2504 H>
21. In the reaction sepuence, CaC; — A » B— C, the
Hg2+ N1

product Clis

A. Give yellow ppt. with NaOl

B. it's final oxidationproduct is carbonyl compound

C. Its final oxidation product is CO5 and H5O

D. Its final oxidation product is CH3COOH

Answer: A::C

o Watch Video Solution



https://dl.doubtnut.com/l/_ArcnwqA0vglm
https://dl.doubtnut.com/l/_PwY22p1XlSR4

22. Compound which gives alcohol on reduction is/are

A.Me — C — Cl
g

B.Me — C — NH,
g

c.le
) 0

|| ||
D.Me —C — O —C — Me

Answer: A::C::D

o View Text Solution

23. Select the correct synthesis products

Alel

B. s

c.l&


https://dl.doubtnut.com/l/_AVuhzeU6CJ5a
https://dl.doubtnut.com/l/_qpK8vhA2972l

D. e

Answer: A::B::C

° View Text Solution

24. Lucas test is used to make distinguation between 1°,2° and 3°

alcohols.

anydrous ZnCl,
ROH + HCl 272 RCl|  + H,O

conc. whiteturvidity

This shown that -

A.ROH behaves as a base greater the value of pK, (alcohol),
greater reactivity with conc. HCl and thus sooner the formation
of white turbidity.

B. Alcohol which reacts fastest with Na metal, will give turbidity at

fastest rate


https://dl.doubtnut.com/l/_qpK8vhA2972l
https://dl.doubtnut.com/l/_7OduBOlC8U0O

C. alcohol which reacts fastest with Na metal, will give turbidity at

fastest rate.

D. Alcohol which gives red colour during victor mayor test, will

always give turbidity at slowerrate then those giving blu or white

colour during victor mayor test.

Answer: A::B

o Watch Video Solution

25. End-product of which of following reaction give positive lodoform

test.
(0]
|| (i) .CH3MgBr( excess)
A.H — C — Clunderst((ii). H®) e ;
(0]
N 1) CH3M gBr ( excess
8.Ph— C — 0 — p M (o)
(it)H*
(0]

|| 1) .CH3M gBr ( excess
CH—C -0 — gy L CMobrieees)
(i) .H®



https://dl.doubtnut.com/l/_7OduBOlC8U0O
https://dl.doubtnut.com/l/_QFUJ2Bmnhh6m

(0
D.CH; — g’ — H (9 'CH:‘MQBT(excessg
(i) H*

Answer: A::B::C::D

° Watch Video Solution

26. s

Dehydration of alcohols take place more rapidly with POCI3 than with

H,50, select the correct statement(s) about the following

dehydration reaction.

A. It does not involve carbocation

B.It involves R — OPOCI, with —OPOCI, as a batter leaving

group.

C. It involves E2 mechanism as pyridine base abstrcts proton from

the adjacent carbon as the same time at which —OPOCI, is

leaving.


https://dl.doubtnut.com/l/_QFUJ2Bmnhh6m
https://dl.doubtnut.com/l/_P5yVAaCVqugu

D. It is E1 reaction without formation of carbocation.

Answer: A::B::C

° View Text Solution

27.ls2

Consider the following compound A (below) Select the correct

statement (s)

A. It is more acidic that CH;OH
o

|
B. it is more acidic than CH;COH
C. it reacts very fast with Lucas reagent

D. It is a diacidic base

Answer: A::B

° View Text Solution



https://dl.doubtnut.com/l/_P5yVAaCVqugu
https://dl.doubtnut.com/l/_Y2c9HxqLWG8x

28. s

Which of the following are possible products in the above reaction?

Alsl

B. o

c.l&

D. L

Answer: B::C::D

o View Text Solution

29. s

Products form by following reactions are

Alsl

B. o


https://dl.doubtnut.com/l/_IwRnT3wnjxbI
https://dl.doubtnut.com/l/_Ri55KpBK2RvT

c.l&

D. s’

Answer: A::C

o View Text Solution

Tilden NH: NaNO
30.C,H; NH, e>t (i) = (i1) “C Y (1i1). The product (iii) can be
reagen HCl

A. Alcohol

B. Ether forms an explosive peroxide

C. Alkyl chloride

D. Alkyl nitrite

Answer: A::B::C::D

o View Text Solution



https://dl.doubtnut.com/l/_Ri55KpBK2RvT
https://dl.doubtnut.com/l/_3yqciKgXDqZM
https://dl.doubtnut.com/l/_5qZxDeXABPN4

31. Which of the following reaction represent major product.

Al
B. sl
c.l&

D. s

Answer: A::C

o View Text Solution

32. Which of the following will get oxidised by Brz/KOH into
carboxylic acid?

A.CH; — CH, — OH

B. &

c.lz

D. s



https://dl.doubtnut.com/l/_5qZxDeXABPN4
https://dl.doubtnut.com/l/_zS1hlAIyAd3k

Answer: A::B

° View Text Solution

33. Diethyl ether reacts with PCl; to form

A. Ethyl chloride

B. Phosphorous oxy trichloride

C.1,2-dichloro ethane

D. Ethene

Answer: A::B

° Watch Video Solution

34. Which method is useful for the synthesis of ether?

Alel


https://dl.doubtnut.com/l/_zS1hlAIyAd3k
https://dl.doubtnut.com/l/_YlwhgHWdleNH
https://dl.doubtnut.com/l/_7YnFElcEWFhV

B. CQH5ONCL + (CH3)2504 —
C.lel

D. (CH3)3CB’I" + CH3CH20NG, —

Answer: A::B::C

o View Text Solution

35. Which is/are correct statement?

Alel

B. o
C.This is oly affected in reduction to 2° alcohol [

D. e

Answer: A::B::C::D

o View Text Solution



https://dl.doubtnut.com/l/_7YnFElcEWFhV
https://dl.doubtnut.com/l/_mio63AtTHU6K

36. In the reaction L= the intermediate (s) is/are

Al
B. s’
c.l&

D. L

Answer: A::B::C

o View Text Solution

Reagent

37.CHs — |CH — CH = CHy = ——— Alcohol
CH,

Which is true about alcohol and Reagent?

&2

o View Text Solution



https://dl.doubtnut.com/l/_ARLg7B92XiZC
https://dl.doubtnut.com/l/_WM3KwncBMn1b

38. Match the column

&2

o View Text Solution

39. Match the column

&2

o View Text Solution

40. Match structures given in list | with names given in list Il and then

select the correct answer from the codes given below the list

&2

° View Text Solution



https://dl.doubtnut.com/l/_eth9anb2NEtE
https://dl.doubtnut.com/l/_tiLcanIr7JVl
https://dl.doubtnut.com/l/_Be0Xf0VybgpY

41. Match this list | with list Il and then select the answer from the

codes given below the lists-

&2

o View Text Solution

42. Match list | and Il and then select the correct answer from the

codes given below the lists-

&2

o View Text Solution

43. Match the column-

&2

o View Text Solution



https://dl.doubtnut.com/l/_CWytPCREak8G
https://dl.doubtnut.com/l/_xm6jDRT987K4
https://dl.doubtnut.com/l/_97QDWASgwD0r

44, Match the column-

&2

o View Text Solution

45, Match the column

&2

o View Text Solution

46. Match the column

&2

° View Text Solution

47. Match ilst | with list Il and then select the correct answer from the

codes given below the lists-


https://dl.doubtnut.com/l/_Uja2Op8Ejjhx
https://dl.doubtnut.com/l/_iIyaDf4cRoXF
https://dl.doubtnut.com/l/_M8304IWkFjRZ
https://dl.doubtnut.com/l/_8o906hK1Xwo7

&2

o View Text Solution

48. 10

o View Text Solution

49. A to F alkenes with minimum possible carbon.

H® /| KMnO,
(i). A T) MeCOOH as the only product

&2

H® |KMn
(iii). C /—> MeCH;COOH as the only organic product.

(iv). Lo

(v).

0
H® | KMnOs
E%HOOCCCCC’C’C’CCCOOH
O
H® | KMnO,
(vi). I T) acetone+ethanoic acid

o View Text Solution



https://dl.doubtnut.com/l/_8o906hK1Xwo7
https://dl.doubtnut.com/l/_X7RyS5WfIf8x
https://dl.doubtnut.com/l/_UPMp6i7xnTqh

50. .

o View Text Solution

51. s

o View Text Solution

PC
52.() CHy = CH — (CH2)3 - CHy, — OH —
PCC
(iii). C¢Hs —CH = CH — CH, — OH —
(iii).

OH
PCC (i) .NaOH

|
CH3— CH—CHz—CHz—CHz—OH—)(A)—)(B)

(ii) . A

(iv). Lo

MnO,
(V). CH2 = CH - CH2 — OH —?
(vi). Lo


https://dl.doubtnut.com/l/_UPMp6i7xnTqh
https://dl.doubtnut.com/l/_paXg7nu6AeYi
https://dl.doubtnut.com/l/_MLfekFfaJvwE
https://dl.doubtnut.com/l/_oN7wIhxcdQb4

CH;

| w0,
i).CH=C —CH = C — CH, —OHMt—O> ?
OH
| 0,
(viii). CgHs — CH — CH; 2% 7
CCly

(ix).

DMSO+TsCl+NaHCO;

C¢H; — CH = CH — CH, — |C’H—C’H2—OH

CH,
?
° View Text Solution
53. (i). Lo
OH

| uminium tert butoxide
(i). CHy = CH — CHy — C H — CH; > fert butoxids
(iii). L.

o View Text Solution



https://dl.doubtnut.com/l/_oN7wIhxcdQb4
https://dl.doubtnut.com/l/_4SUuHyU9RVCk

54.(). Me — C H — CH, — OH %
|

A
OH
HIO4
(ii). Mes C — C H — Et — ?
| |
OH OH
(iii). Lo
. HIO4
(v. HO — CHy — CH, — CH — CHy — OHT
|
OH
HIOy4
(v. CH, — CH — (CH, —C’H—CH;»,T
| |
OH OH
HIO,
(vi). lC'Hz— |CH— \C’H_CH?)T)
OH OH OH
HIO,
(vii). ‘C’H2 — |C'H—C"H— ‘C’H2 ?
OH OH OH OH
HIO,
(viii). Me — ﬁ'— |CH— Me T)
O OH
HIO,
(ix).Me—ﬁ’—ﬁ'—Me?.
o 0]
° View Text Solution
o o
|| [0] || [0]
55.(a).C — C — C — C—A—> Itb rgt (b). Me2sCH — C — Me —A—>

@)

|| o)
(c). MesC — C — Me [—Al)


https://dl.doubtnut.com/l/_AbQYHdAP07dU
https://dl.doubtnut.com/l/_inIWozuZ7LpJ

(d). s,

o View Text Solution

56.(a). CH; — CHO %
SeO2
(b). Me;CO =33
(0]
| Se0» _ mCPBA A
(€. HyC — CHy — C — CHy —= Py e P,
&
(. CH; — CH = CH, — acrolein
(g). L
O 0] (0]
I . 11 come.Na HY A
h.CH,—C-H*%Hg_c-c_goipi/5p

o View Text Solution

57. How will you differentiate HCHO and PhCHO?

o Watch Video Solution



https://dl.doubtnut.com/l/_inIWozuZ7LpJ
https://dl.doubtnut.com/l/_ncSPqWSLelbh
https://dl.doubtnut.com/l/_3tEvlQpb8vTU

58. How will you differentiate HCHO and MeCHO?

° Watch Video Solution

59. How many alkene on catalytic reduction give normal butane as

product.

H, /Pt
(i). (A) —— n-butene

H,/ Pt
(ii) (B) —— Iso-pentane
H,/Pt

(iii). (C) —— Neo-pentane

H,/Pt
(iv). (D) —— Cyclopentane

(V). e,

o View Text Solution

60. Give the expected major product for each reaction, including

stereochemistry where applicable.

&2


https://dl.doubtnut.com/l/_LvNgs8of2BZJ
https://dl.doubtnut.com/l/_b9jGxq1z9Szu
https://dl.doubtnut.com/l/_LJIvfb48QqLA

° View Text Solution

61. L.

o View Text Solution

62. Identify the product?

aBH34 1AITH,
(i) 225 are — oo 24

NaBH.
(ii). —— MesCooverset(LiAlHy) —

iy, Y2 are — coor BA

NaBH.
(iv). +—— Me — COOE — verset(LiAlHy) —
NaBH. LiAlH
(v). —— Me — COOH —==
NaBH. LiAlH
(vi). s Me — COOMe ——3
. NaBH, LiAlH,
(vii). «—— Me — CONHy ——
NaBH4 LiAlHy

(viii). +— Me — CONH — Me ——

X NaBHy LiAlHy
(ix). +—— Me — CONMey ——


https://dl.doubtnut.com/l/_LJIvfb48QqLA
https://dl.doubtnut.com/l/_driE0qrpSBn2
https://dl.doubtnut.com/l/_pKKDKoDRDBZM

NaBH4 LiAlHy
(x). «— Me —CH = NH ——

NaBH. LiAlH.
(xi). 4—r CH; — CH = CH, ——

o View Text Solution

63. Give product in following reactions.

&2

o View Text Solution

64. Give product in following reaction.

2.

o View Text Solution

65. give product in following reactions.

&=,

.Y


https://dl.doubtnut.com/l/_pKKDKoDRDBZM
https://dl.doubtnut.com/l/_uaq7xtA4I2ng
https://dl.doubtnut.com/l/_KH226dEJHglQ
https://dl.doubtnut.com/l/_oHv4luMSY2dV

| ¥ View |ext Solution

66. Give product in following reaction.

2.

° View Text Solution

67. s

o View Text Solution

68. Suggest appropriate reagents for following conversion.

&2

o View Text Solution



https://dl.doubtnut.com/l/_oHv4luMSY2dV
https://dl.doubtnut.com/l/_kDk5CK2Zq717
https://dl.doubtnut.com/l/_19itqGZDed2L
https://dl.doubtnut.com/l/_3KqEeF6uydPd
https://dl.doubtnut.com/l/_F5Nmgh8XTonu

1. How can you convert PhCH = CHCOCHj3 to
(). PhCH = CHCOyH

(i). PhCH = CHCH,CHj,

(iii). PACH,CH,CH,CHj

(iv). PhCH = CHCH(OH)CHj;

(V) PhCHQCHQCOCHg,

o View Text Solution

2. What reagents could you use for te following conversions.
(a). MeCO(CH,),COsEoMeCHOH(CH,),CO,Et

(b). HO,C(CH,),COCl — HO,C — (CH,),CH,OH

(c). O2N(CH,),CN — OyN(CH,),CHy,NH,

(d). OoN(CH,),CH = CHy — H,N(CH,),CH = CH,
(e). Me;CHCOC < oMe;CHCHO

(). OoN(CH;,);CHO — Oy;N(CH,),CH,OH

(g) OQN(CH2)2CH = CHQ — OQN(CH2)3CH3

[ o A\ msvar Tawndk Caliidliam


https://dl.doubtnut.com/l/_F5Nmgh8XTonu
https://dl.doubtnut.com/l/_blAJ4twu7QBg

L VICVV ICAL JVIVLIVII ]

3. What are the order of rates of oxidation with HIO, of the following
diols. Explain with reactions.

A MGgC(OH)C(OH)Mez

B. Me;C(OH)CH(OH)Me

C.CHy(OH)CH,(OH)

D. MeCH(OH)CH(OH)Me

Answer:

o View Text Solution

4. Complete the following equations
(Hhn — 03H7 — COQH — n — C4H90H

H+
(ii). MeoCO + EtMgl — 7 — 7


https://dl.doubtnut.com/l/_blAJ4twu7QBg
https://dl.doubtnut.com/l/_RB8M8nbhDYly
https://dl.doubtnut.com/l/_APghpPqPBagN

(iii). BtCO, Bt + 2MeMgl — 7 225 2

(iv). Lo

o View Text Solution

5. t-butyl alcohol reacts less rapidly with metalic sodium than the

primary alcohol. Explain why?

o Watch Video Solution

6. Ethyl alcohol reacts with HI but not with HCN. Explain why?

° Watch Video Solution

7. Write the structure of the principal organic product formed in the
reaction of 1-propanol with each of the followinng reagents.

(i). Potassium dichromate (K5Cr507) | aqueous sulfuric acid, heat


https://dl.doubtnut.com/l/_APghpPqPBagN
https://dl.doubtnut.com/l/_UwPklo24MOT8
https://dl.doubtnut.com/l/_4ZNNgTALGLet
https://dl.doubtnut.com/l/_Xft82KpmAe3C

o

|
(ii). Acetic acid CH3COH in the presence of dissolved hydrogen
chloride.

(iii). L= Cl in the presence of pyridine.
o 0

1]
(iv). CeHsCOCCgHy in the presence of pyridine

(v). [ in the presence of pyridine.

° View Text Solution

8. Complete the following series of equations by writing structural

formula for compounds A through I:

(a). Lo
(b).
SOCl, (i) .03 .
CHz = CHCH2CH2 CHCH3 E— CﬁHHCl _—> C5H9CZO
\ pyridine (4t) .Zn/ HyO (E)
OH (D)
(c). .

o View Text Solution



https://dl.doubtnut.com/l/_Xft82KpmAe3C
https://dl.doubtnut.com/l/_fveMnKesl58S
https://dl.doubtnut.com/l/_Z4HukjMHZrtH

9. Predict the principal organic product of each of the following

reactions. Specify stereochemistry where appropriate.

&2

o View Text Solution

10. Deduce the identify of the missinig compounds in the following

raction sequences. Show stereochemistry in parts (b) through (d).

&2

o View Text Solution

11. Explain why ArOR ethers are cleaved to give Rl and ArOH rather than

Arl and ROH.

o Watch Video Solution



https://dl.doubtnut.com/l/_Z4HukjMHZrtH
https://dl.doubtnut.com/l/_3FSlVz0E4Z2j
https://dl.doubtnut.com/l/_SMafEaDuEFYr

PCl KCN H;0F NH.
12.C, HsOH — (A) — (B) — (C) —

° Watch Video Solution

s KOH (Alc . s
18. CHyCHy,CH,0H 7% (4) 28 gy 220 0y M5y

o Watch Video Solution

14. A compound (X) with the molecular formula CsHgO can be
oxidized to another (Y') whose molecular formula is C¢ HsO>

The compound (X) may be

° Watch Video Solution

15. Outline a mechanism to account for different isomer formed when

L. reacts with CH30OH in acidic and in basic medium.

| n\" — e~ _ 1 n®


https://dl.doubtnut.com/l/_kl6pI1ehJm2z
https://dl.doubtnut.com/l/_CWNYNtPOyrhS
https://dl.doubtnut.com/l/_OfLUFa4b66Gl
https://dl.doubtnut.com/l/_IK5Ucevk0EG1

L T ViEw IEXT 501UtLiorn

16. Differentiate:
(a). 1-Hexanol and 1-chlorohexane
(b). Diethyl ether and n-butanol

(c). Diethyl ether and n-pentane

o Watch Video Solution

17. Complete the following equations & comment
(). MeOFE — verset(HI) — ?

(ii). Et,0 —2 2

° Watch Video Solution

18. Diethyl ether behaves as base. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_IK5Ucevk0EG1
https://dl.doubtnut.com/l/_GdUUIH6DYKyE
https://dl.doubtnut.com/l/_ZoQSbn89ssCy
https://dl.doubtnut.com/l/_x9LtorvAjAdO

19. Sometimes explosionn occurs durring the distilliation of an ether

Explain.

o Watch Video Solution

20. Explain why ArOR ethers are cleaved to give Rl and ArOH rather

than Arl and ROH.

o Watch Video Solution

21. 1o

Complete the following with appropriate reagent:

° View Text Solution



https://dl.doubtnut.com/l/_x9LtorvAjAdO
https://dl.doubtnut.com/l/_FtK0DoVtH0Xa
https://dl.doubtnut.com/l/_aDnZ5jIl7ENo
https://dl.doubtnut.com/l/_aOPoZrpbpMTa

22. Indicate steps which would convent:
(A) Phenol to acetophenone

(B). Acetic acid to tert-butyl alcohol.

° Watch Video Solution

23. Compare rate of reaction towards pinacol pinacolone

rearrangement.
CH; CH; CH3  Ph
| | | |
Ph—- C — C — Ph CHs; - C — C — Ph
| ! | |
OH OH OH OH
(I) (II)
CH;  CH;
| |
CH; - C — C —CH;
| |
OH OH
(IIT)

° View Text Solution

24. Give the product of the following reaction:

2


https://dl.doubtnut.com/l/_rK1ZeHGKjKey
https://dl.doubtnut.com/l/_ergyH7hSNCi2
https://dl.doubtnut.com/l/_gpSIm5JPHW6b

O

M H>50
2 (ii). Me—C’ Et - 224 ¢
H,0 A
[0)

[ Mg H,SO
(iv). Ph — C — Me —% 22
H,0 A

° View Text Solution

25. Sometimes exploson occurs during distillation of ether sample. Give

the reason.

o Watch Video Solution

26. Choose the reaction in each of the following pairs that proceeds at
the faster rate. Explain your reasoning.

(a). Base-propmoted hydrolysis of phenyl acetate or m-nitrophenyl
acetate

(b). Base-promoted hydrolysis of m-nitrophenyl acetate or p-
nitrophenyl acetate.

(c). Reaction of ethyl bromide with phenol or with the sodium salt of


https://dl.doubtnut.com/l/_gpSIm5JPHW6b
https://dl.doubtnut.com/l/_e7p2cTJRSFxh
https://dl.doubtnut.com/l/_glE6QQE9s6I2

phenol.
(d). Reaction of ehtylene oxide with the sodium salt of phenol or with
the sodium salt of p-nitrophenol

(e). Bromination of phenol or phenyl actetate.

o View Text Solution

27. Which has higher b.p.?
(a). Phenol

(b). Benzenethiol

o Watch Video Solution

28. Which has higher m.p?
(a). Hydrozqunone

(b). Catechol

o Watch Video Solution



https://dl.doubtnut.com/l/_glE6QQE9s6I2
https://dl.doubtnut.com/l/_0pmaDxrZJJ7Y
https://dl.doubtnut.com/l/_yMalMOvlPPwo




